SCHOOL BASED ASSESSMENT 2022
GRADE 8 Model Paper

SCIENCE PART - B (Subjective Type)
Part-A: 48 Marks, Part-B: 52 Marks, Total: 100 Marks

School Name (¢t6J#)

Student Name ((L'KH‘.,M») Roll No

General Instructions  (=li4($s)
1. Read carefully and attempt all questions.

-u”/d’aﬂlr(l?»lu.‘.’%a./i_l
2. A question can consist of one or more parts.
_:‘_Dfndv""”/,uf’ug);ugg.{ldly.{l_r
3. Use blank space given below each question to write the answer. No additional page will be given
for writing.
_(ngg;u:"’}‘éwéf“&Lé_q/dl;ﬂiL;;,mf,?dl&é(d;,i“zid;yﬁ_r‘
4. Use black/blue ink for writing. Use of lead pencil is not allowed.

..{_u.‘.‘;ojlgu,rdbpléﬁ (f:..u:/db&l Kél:’ﬁu(}f/dgé LAy

| Total Marks: 52 | Part-B(Open Ended Questions) | Total Time: 1 Hour 30 Minutes |
Question. No.33.(a) What is nervous.system? 2
?q_y?"'/u’;/'
(b) Describe the structure and function of neuron. 4
_q"/u.l:;‘j;’ul&b‘tfu,uf
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(c) Draw and label the diagram of neuron.

(4)
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Question. No.34.(a) What is cytokinesis? 2
"‘Ly//jégf‘/
(b) Which of the characteristics given in the table are of mitosis and which are of meiosis? 4)

9‘!‘/,@‘;@,@1waiétay#uu/:_u:gy#Jd;u:J’f

Characteristics  «ios

Mitosis/Meiosis 8/ 70\

from one parent cell.

Two daughter cells are produced

wak?»;;&éuf,{t

Consists of two cell divisions

q_&m}"'y 4?'2:5&’ 2

the parent cell

Number of chromosomes in the
daughter cells becomes half as in

q_Jlgan:Tc.J'fJQT)IEJ}’}’)’:/U.‘I):;;:

Somatic cells are produced

AE K dzpt

(c) Write the number of daughter cells produced from one onion cell and number of chromosome
in each daughter cell against the cells in the following table. Each parent cell in onion plant has 16

chromosomes.

(4)

16u’:df‘jQT/:‘ﬂt_){.’L/"l.:;-ufﬁ;lﬂgffr}”}/(ufJ?}ﬁj}lﬂJkﬁ;Lb&c‘f..{l&]Q,&L«L}:JJ‘;JJ?/#

-y

Type of cell Sk

Number of daughter cells produced
from one parent cell

Number of chromosomes in one
daughter cell

)IAJJ):};)LI:&;J:&K{I )lﬁJ]/f;/u:Jfﬁ).{l
Skincells &£
Spores Jis
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Question. No.35.(a) A student adds baking soda (NaHCO3) and hydrochloric acid in a flask with a
balloon attached. The balloon inflates. Which evidence in the diagram shows that reaction has

taken place? 2
d/,'/‘apyl/:lPLzJu:rlﬂlﬁ-gt‘@d;‘ﬁu?-ﬁalnéuyivZ:;.—Cﬂ;“LDBJ»:‘J_J//}Ku,?y/)l(NaHCOg)lb’u@ ui’.,Cu? #Uﬂu{l
St nefhl

Balloon
.'JYa

Flask {18

Hydrochloric actd/
~
I SB 0 4A,

(b) Write complete balanced chemical equations, name of products and test for the gas produced for
the reactants given in the above diagram. (6)

e 2Lt Bisdstt g sl b L el ecetiln Bl S é&guwﬂuﬁ'rlﬂﬁze:/‘:ﬂ

Complete balanced 2
equation

chleiF S

Name of products (2)

(Lol

Test for the gas (2)
produced

AL Lyl
(c) Write four uses of hydrochloric acid. 4
P INSYRA

Question. No.36.(a) Draw a ray diagram of image formation on the figure given below. 4)
Lo e SEEItPESE
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(b) What is the nature of image formed in part ‘a’? (2

e et IWBIL LI e 2o

(c) Give two differences between image formed by convex lens and image formed by concave lens.

4)
3G e RS

Image formed by convex lens Image formed by concave lens
Gid e A Giné e
Question. No.37. (a) Define alternating current. 2
ey Nye: 7
(b) Describe the process of thermal power generation. (5)
LSS L 7
(c) Describe the problems involved in thermal power generation. 3

Ll dea P 2
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